When the Airflow Vector Pty Ltd

TN
& AH‘! low 4 4 Collins Rd, DROMANA VIC. 3936

counts AUSTRALIA
info@airflowvector.com

Snorkels for your WD

Instructions to fit the Snorkel Kit SO07

for the Izusu Dmax

1.0 Introduction

Airflow Vector Pty Ltd thanks you for your purchase and the trust you put in
our products.

We strive to supply our customers with the highest quality equipment based
on the most efficient design and best styling. We are confident that you will
enjoy using our Snorkel system.

It should improve the power of your vehicle as well as reduce its fuel
consumption.

1.1 General instructions

Follow carefully the instructions listed on these pages and use the template
provided, do not over tighten bolts. Do not use silicone on any connections,
use mastic.
Ensure that safe work practices are followed when installing your Airflow
Snorkel. Protective ear and eye wear should be worn at all times when using
power tools.

1.2 Disclaimer

It is highly recommended that installation is undertaken by a qualified
mechanic or panel beater. Airflow Vector will not be held responsible for any
damage incurred through incorrect fitment of the templates and workmanship.
It is the responsibility of the fitter to ensure that particular care is taken when
assembling the Snorkel kit to the vehicle as it may cause damage to the
windscreen and or electrical components. Safe work practices must be used
at all times when undergoing installation.

We guarantee Airflow Vectords Kkits
proof of purchase can be established.

All models produced by Airflow Vector are verified to suit right hand drive
vehicles according to Australian specifications. Variations in vehicle
specifications may occur in other markets.

If you're in doubt about the product suitability, please forward a photograph of
the engine bay, air filter housing and of the vehicle at frontal/side position to
info@airflowvector.com

SDO005 Navara NP300 Page 1 of 10

again


mailto:info@gibsonrm.com.au
mailto:info@gibsonrm.com.au

When the

TN Airflow Vector Pty Ltd
é': A"‘ IOW% 4 Collins Rd, DROMANA VIC. 3936
counts AUSTRALIA

info@airflowvector.com

Snorkels for your 4W/D

2.0 List of Components

SD007
SDO07E

EHEEEEEEEEARRRAN

S007 Kit content Fasteners included

Ref Designation Qty. | Length Unit Ref Designation Qty.
SP248 Snorkel D-Max 1 SP285 |A Pillar bracket - $007 Black 1
SK062 Air Ram 3.5" Small 1 SP026 |Screw Plug Nylon 2
SK089  |Bolt Kit D-Max 1 | e— 0079 |Screw Self Tap 10gx5/8 Black 2
SP013 TPR Ducting 90mm 1 200 mm SP023 |Washer Spring 1/4x1/4 Black 1
SP018 Hose Clamp 80/100mm 4 SP024 |G/Bolt M6 x 12mm Black 1
SP138A  |Elbow for D-Max 1 SP022 |Stud M6x25mm Z/P 7
SP218A  |Elbow for D-Max 1 SP025 |Washer Panel 1/4x1.1/4x16g Z/P 7
sDoo7 Template for D-Max 1 SP027 |Flange Nut M6 Z/P 7
SDOO7E  |Instruction for D-Max 1

SDO005 Navara NP300 Page 2 of 10


mailto:info@gibsonrm.com.au

When the Airflow Vector Pty Ltd

TN
& AH‘! low 4 4 Collins Rd, DROMANA VIC. 3936

counts AUSTRALIA
info@airflowvector.com

Snorkels for your WD

Ensure that all parts listed are included in the parcel before starting any work

The total expected time of installation is around 2.5 hours.

It is the installerédés responsibility to \
template are correct for the vehicle.

Check the template fits the vehicle correctly before starting anything

The remove of component in accordance with the service manual for the

vehicle

SDO005 Navara NP300 Page 3 of 10


mailto:info@gibsonrm.com.au

When the ;
& 2N Airflow Vector Pty Ltd
Air /OW_% 4 Collins Rd, DROMANA VIC. 3936
counts AUSTRALIA
info@airflowvector.com

Snorkels for your 4WD

2.1 List of tools and additional parts required
Masking tape, Clear tape, Mastic or Polyurethane, NOT SILICON
Hammer, Centre punch, scissors.

Assorted screw drivers, Spanner set

76 mm hole saw

Assorted drill set, Drill, Die grinder

Wet / dry sand paper

% round file, Small square file

Zinc rich primer

Thread lock compound

Reciprocating Saw

Die grinder

3.0 Detailed Instructions

[

3.1 Snorkel Kit Izusu Dmax right hand 3.2 Remove the mud flap and inner guard
Prior starting any work, ensure that the

configuration of the car is as shown.

SN T

3.3 The hole ID is 79mm 3.4 The hole ID is 79mm

SDO005 Navara NP300 Page 4 of 10


mailto:info@gibsonrm.com.au

When the ;
/- N Airflow Vector Pty Ltd
Air IOW% 4 Collins Rd, DROMANA VIC. 3936
counts AUSTRALIA
info@airflowvector.com

Snorkels for your 4WD

$007 D-Max

3.5 Read the template carefully. Cut out the | 3.6 Line it up to the true points
template along the guard line

3.7 Mark the hole before drilling 3.8 Tape over mark and drill hole. Mark the
centre punch with felt pen on tape

SD005 Navara NP300 Page 5 of 10


mailto:info@gibsonrm.com.au

When the ;
& 2N Airflow Vector Pty Ltd
Air /ou/_% 4 Collins Rd, DROMANA VIC. 3936
counts AUSTRALIA
info@airflowvector.com

Suorkels for your 4UWD
3.9 Drill pilot holes approximately 5 to 6 3.10 Then drill out the fixing holes to 11mm

3.11 Using 76mm hole saw at slow speed. | 3.12 De-burr all the holes
And make the hole bigger about 83—84mm

3.14 Trail fit the snorkel. Fix the snorkel to

the guard at a few points. Position the A
pillar bracket to meet up with the A

3.17 Mark with a pencil 3.18 Dirill pilot holes 3-4mm

SDO005 Navara NP300 Page 6 of 10


mailto:info@gibsonrm.com.au

When the

& Jiflow—

Snorkels for your 4WD

Airflow Vector Pty Ltd

4 Collins Rd, DROMANA VIC. 3936
AUSTRALIA
info@airflowvector.com

3.19 File the holes with a square
file to suit nylon plugs SP026

3.21 Once the paint is dry, fit the
 plugs SP026

.\7

3.20 Paint ALL raw metal surfaces
with Zinc rich primer (3
snorkel fixing holes, 1 air
hol e, 2

i ntake

3.19 Demo verson with elbow and TPR
Ducting

3;20 Put mastic on

SDO005 Navara NP300

Page 7 of 10


mailto:info@gibsonrm.com.au

When the ;
/- N Airflow Vector Pty Ltd
Air Iow’% 4 Collins Rd, DROMANA VIC. 3936
P AUSTRALIA
info@airflowvector.com

Snorkels for your 4WD

Y -n&% r

3.23 Put mastic on 3.24 Mastic and screw fix
3.25 Connect all parts same as demo 3.26 Slide the hose clamp SP018 on the Air
verson Ra m 3thén th@unt it the snorkel

SD005 Navara NP300 Page 8 of 10


mailto:info@gibsonrm.com.au

